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150,000, 0003 *2CH 300,000
MeDISSH (MADIEESI L 18183 AL EYH) = 28,798 25,97 2,821
&(el2l)
101 @124H| 28,798 25,971 2,827
04 JIZtNZ22 NS 2+ 28,798 25,971 2,827
oMl S8SI| &5 23 22| 28,798
—JlZ2s 76,9603 x1H 270! 20,780
—F=5=g 76,9602 » 1 +603= 4,618
—A2lE8s 200,000 1204 2 2,400
—d03 500,000 22 1,000
MEDISEM(LAIISEEI & 13125 AIBAM) = 100,700 100,700 0
x
201 et 3| 10,000 10,000
01 At22t2l] 10,000 10,000
Od2HDIZ & SHEF 2CliE 2=
M 5,000,000 22} 10,000
206 M=l 90,000 90,000
01 MZH| 90,000 90,000
OXYDIBEH AASE ME (54 2 65)
40,000,000& »23] 80,000
OSalSXdDIESEN #AS8E MA(BL2A6
) 5,000,000& 22 10,000
301 22N = 700 700
14 JIEt2 8= 700 700
OMeEDl S¥SI| &1 24
50,0002 *14H 700
e sulioty XX 150,000 0 150,000
= 75,000
Ea 75,000
401 AIEHIX 20HH 150,000 0 150,000
= 75,000
s 75,000




A SELED
M HA|(SH/HDI2)
o9 REHHALES U NHSY S (cre:xigl)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 Al&Hl 150,000 0 150,000
Olfgs sUIltY 8xA
15,000, 0002 * 1094 &~ 150,000
= 75,000
i 75,000
SE=AEH 28 & 722 181,560 201,867 A20,307
201 B2 AY| 181,560 201,867 A20,307
01 ArR2elt| 48,840 48,600 240
OstZsdE =D & HiO Xz
500,000& 1200 & 6,000
OsZsXdEH AREE 7Y
1,000,000& = 1291 = 12,000
Oostd=NdH EH 7
300, 000& *4 1 *43] 4,800
OsZd0Istd EA&Y 28 74
1,000,000 = 12942 12,000
Ot HoALE 235 74
1,000,000& 1291 = 12,000
O ENHEH RIZHIEY =2
170,000& = 1204 & 2,040
02 32| 132,720 153,267 AN20,547
Osd=X4HE == 22l
300,000 =124 3,600
OsA=NME HIIR3
500,000 * 1204 6,000
Ostd=NdH S&l 2=
100,000& = 12042 1,200
OBASNME MM Yetasg
200,000 =124 2,400
Ot =SXIHE HAF 22ldl
1,000,000& 1201 = 12,000
OFaxtg SFHI
1,800& *4002 | &4 +8CH* 1201 = 69,120
OFHEAXE KA
400,000 x8CH* 1201 & 38,400
SHASAHE 2F L A2 (e24]) 164,212 147,850 16,362
101 eI t| 164,212 147,850 16,362
M I1RINZ2Z2XsSEs 164,212 147,850 16,362
OXEgs &= & Jt2 E4 21| 54,208
=Jl2= 76,9603 *2H #2552 39,250
—F=gsH 76,9603 x2H x53%= 8,158
—ANBEEE 200,000 x22* 1200 & 4,800
—&03 500,000 2 x23] 2,000
O AE HA CIRA(Es, A3H) 55,79%
—J|lE2= 76,9603 5 145 55,7%
Ot =XHE A o182 54,208
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
—JlEs 76,9602 x2H x2552 39,250
F5ad 76,9603 x2H 53 8,158
—ME2EE 200,000 =2+ 1200 2 4,800
—&0=2 500,000 x2H +23] 2,000
LB HAUS} (SHMH L/ DY - AE) 3,663,436 4,477,875 A814,439
= 1,208,394
Jl 203,400
=S 487,660
s 1,763,982
SEHEFS 1,123,479 1,833,439 709,960
= 357,768
= 207,594
[Ea 568,117
srE3F At 43,650 33,700 9,950
201 fet= 3| 32,450 30,100 2,350
01 AtR2tc|HI 17,650 17,100 550
OSWTIHE JI1H22l
1,000, 0002 «2CH+52] 10,000
Ol dE=8 dHl Sxi=
550, 000& = 10CH 5,500
OAl2Y #Al B2 840 S X
500,000& *12] 500
OAl=g dAE JHl ZHIgR=
550,000 *3CH 1,650
2 S5=24g4l 14,800 13,000 1,800
O=NHIMY 28 JHIRFUH
500,000 1200 & 6,000
O=MIME HJILs
150,000& 1204 & 1,800
Ourddd st=xt !X
7,000,000 *1CH 7,000
206 Tl 3,600 3,600
IEET 3,600 3,600
OAl=2Y Al 227
12,0003 »300== 3,600
207 ARl 7,600 0 7,600
01 g S| 7,600 0 7,600
O3=8 Me3ZA= 2g(310ha)
7,600,000 * 10 2 7,600
MEST 2 (REA)(2124]) 102,219 97,019 5,200
101 e124d| 102,219 97,019 5,200
M ORINZZ2NSE S 102,219 97,019 5,200
O2SEEE 224 21| 102,219
—JIZ2= 76,9603 62 * 1602 73,882
-5+ 76,9602 x6 & *32== 14,777
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&l MRS (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—AlBI28E 220,0003 6 H+8H & 10,560
—a0= 500,000 x6 2 *13] 3,000
HEEY 24 29,440 29,440 0
201 fer= 3| 19,440 19,440
01 At 2t 15,840 15,840
O & 2P| £2E 7Y
1,320,000& 1290 & 15,840
2 S5=24g4l 3,600 3,600 0
ORE = S=3Had JJIes
300,000& * 12043 3,600
206 M=l 10,000 10,000
01 M=4l 10,000 10,000
OSPNYSH 237 S 7Y
500 *20,000= 10,000
LIRS Xl 2L (MEALY) 84,251 84,251 0
[ 67,400
T 16,851
201 el 84,251 84,251 0
= 67,400
= 16,851
01 At2teltl 84,251 84,251 0
OLR=dAg 24|
10,000,000 * 10 2= 10,000
= 8,000
2 2,000
OuLSsAIY &l Uxa
501,690 »148CH 74,251
< 59,400
s 14,851
LSS X 2 (Q218])(HEAL) 15,749 15,742 7
= 12,600
Ea 3,149
101 @12A4H| 16,749 16,742 7
=S 12,600
s 3,149
04 JIZtN2Z2XNSE+ 15,749 15,742 7
OUF2"8AIE 22Xt 212i8| 16,749
—JlEs 150,000 ~93& 13,950
& 11,160
= 2,790
—ME2EE 1,799,000 1,79
= 1,440
Ea 359
used dx 23 (XHH) 24,500 24,500 0
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&l MRS (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 24,500 24,500
01 Al2 2218 24,500 24,500
OUSSAIY T Uxi2
550, 0002 *30CH 16,500
OUS2gAIE 224l 100,000 »80== 8,000
AHE BFA- a8 20,000 20,000 0
& 5,714
Ea 14,286
401 Al HIZL S 0HYI 20,000 20,000 0
= 5,714
= 14,286
01 A&t 20,000 20,000 0
OBABIER HehR MMM X2
10,000, 000& x224 20,000
= 5,714
[Ea 14,286
TEAISE 68,068 70,053 1,985
= 7,831
= 18,072
Ea 42,165
401 AIEHIX 20 68,068 70,053 A1,985
= 7,831
= 18,072
= 42,165
01 Al&H| 66,484 68,469 1,985
O2Ue X2 (BUXY, HHLX)
6,648,400 *10ha 66,484
= 7,609
= 17,664
= 41,211
02 Zeltl 1,584 1,584 0
O2Lt* =8 158,4002 *10ha 1,584
= 222
= 408
= 954
g =4 136,777 136,613 1,164
= 50,377
S 19,440
= 66,960
401 Al HIZ 2018 136,777 135,613 1,164
= 50,377
[ 19,440
Ea 66,960
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&l MRS (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 133,712 132,548 1,164
O3 M=+ =AY 5,348,480& *25ha 133,712
= 49,265
< 19,001
[Ea 65,446
02 Zeltl 3,065 3,065 0
O3 M=+ =AY 122,600 *25ha 3,065
= 1,112
< 439
[Ea 1,514
ODINEIX M2 =8 109,525 110,000 A475
= 55,000
< 11,000
[Ea 43,525
401 Al HIZL S 0HYI 109,525 110,000 VAV:Y(S
= 55,000
=S 11,000
s 43,525
01 AlZ8| 106,247 106,722 VAV¥(S
OOIMIEX M2 RS A
21,249,400 »5ha 106,247
= 53,361
= 10,672
o 42,214
02 2/l 2,486 2,486 0
OOBIMIHA M2t =S A
497,2002 *5ha 2,486
= 1,243
s 248
s 9%
03 Al 20HHI 792 72 0
OOBIMISHA M2 =AY
792,000& %12 792
= 3%
== 80
[Ea 316
NS SstEd 489,300 489,121 179
= 244,560
== 73,368
[Ea 171,372
401 AIEHIZ R HYI 489,300 489,121 179
= 244,560
= 73,368
o 171,372
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- ESS

Ofl &F2H

HMEE
Ofl &k2h

01 A=l

OX%S3txe

02 Zteltl

OXEE3t A

03 Al< = CHHI

OXEE3t A

19,054, 1202 «25ha

HH W

377,000 #25ha

HH W

3,522,000& %12

H H W

476,353
476,353
238,177
71,453
166,723
9,425
9,425
4,622
1,387
3,416
3,522
3,522
1,761
528
1,233

476,354

9,245

3,522

S3=H0I

&

UMY

2,193,992
757,8%4
203,400
265,762
966,936

2,485,713

A291,721

= JHRII ALY

Mo W

—

, 147,013
573,509
172,052
401,452

1,147,018

AD

401 AIZHIZ 20

Mo

—

,147,013
573,509
172,052
401,452

1,147,018

N5

01 Al=H|
O2LRIt17]

OB UHRI+3|

OZ=8gXl ZHl7

Og=mA

1,280,920& *100ha

HH W

1,595,860& *50ha

HH W

1,824,200& x250ha

HH W

1,590, 160& *250ha

H

—_

,061,475
128,002
64,046
19,214
44,832
79,793
39,897
11,969
27,921
456,050
228,025
68,408
159,617
397,540
198,770

1,118,053

N56,578
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Selr S3=0H0I (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 59,631
s 139,139
02 Zeltl 77,123 21,378 55,745
OZ2LIRIH] 94,9302 *100ha 9,493
= 4,747
< 1,424
s 3,322
ORIt 124,180 *50ha 6,209
= 3,105
< 931
T 2,173
Ox=EgXl ZHIJ 154,0162 *250ha 38,504
= 19,252
== 5,776
T 13,476
Og=xMA 91,6682 *250ha 22,917
= 11,459
[ 3,438
T 8,020
03 Al 2 CHHI 8,415 7,587 828
O2U=IHI 998,000 12 998
= 49
[ 149
T 350
O LHEIH3| 782,000 12 782
= 391
[ 17
Ea 274
OZX8gXl ZHlD 3,586,000 %12 3,586
= 1,793
& 538
Ea 1,255
Od=MA 3,049,000 %13 3,049
= 1,525
< 457
[Ea 1,067
S3AHEIHRII(1A1]) 361,501 395,420 233,919
= 184,385
== 53,030
[Ea 124,086
101 e124d| 309, 111 342,808 A33,697
= 154,384
=S 46,314
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Selr S3=0H0I (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 108,413
04 JIZtNZ22 XS 2+ 309, 111 342,808 A33,697
SOHRIIRHE ZARE Q14| 49,700
—Jl2s 76,9602 x2H 2502 38,480
= 19,240
= 5,772
o 13,468
—F5=4 76,9603 x2 *422= 6.465
= 3,233
= 969
[Ea 2,263
— M2 237, 7503 x2E 1001 3 4,755
= 2,377
= 713
[Ea 1,665
O4tEBI0I20 A =& & 22| 136,894
—JlEs 76,9603 x6H 180! 83,117
= 41,559
=S 12,467
s 29,091
—F=5=g 76,9603 x6H #3235 14,777
= 7,216
S 2,165
o 5,3%
—AlBI2EE 650,000 x6H 100 2 39,000
= 19,500
= 5,850
o 13,650
O=JHJ HEE 22| 122,517
—Jl=s 81,2802 x5 200 81,280
= 40,640
== 12,192
o 28,448
-5+ 81,2802 x5&H »405= 16,256
= 8,128
s 2,439
s 5,689
—AlBI2E8E 2,498,100~ 1004 & 24,981
= 12,491
s 3,747
s 8,743
201 =3 39,778 0 39,778
= 19,889
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Selr S3=0H0I (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,966
s 13,923
01 At2tltl 30,778 0 30,778
OLEHI0IQUA =8E 28 423
662,4002 10042 6,624
= 3,312
< 993
T 2,319
O | HEE 28 a2S
2,300,000& 1001 & 23,000
= 11,500
& 3,450
= 8,050
O] [ ZAE 29 228
115,400& 10043 1,14
= 577
= 173
= 404
02 S3=gl 9,000 0 9,000
OLHEHI0IQUH A =8E 28 *FU
300,000 10742 3,000
2 1,500
= 450
o 1,050
O 1) HEE 2% =]U
600,000 »10JH & 6,000
= 3,000
= 900
Ea 2,100
301 EetE NS 7,612 7,612 0
= 7,612
11 dALEBIXNIZE S 7,612 7,612 0
OLEBI0IQ0HA +=8H WS 22|
250,000 64 1,500
= 1,500
O I HEE 1= =]
740,800 +7'H 5,186
= 5,186
O=It30| X =AY ns 2]
463,000 ~2H 926
= 926
405 AHAHE S 5,000 0 5,000
= 2,500
== 750
o 1,750
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Selr S3=0H0I (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AL =S F=HI 5,000 0 5,000
O£I1%7I| HEES 6IFI £ 7
500,000& = 10CH 5,000
= 2,500
== 750
T 1,750
S3aIERII(1248]) (RHAI) 265,677 251,715 13,962
101 @124H| 265,677 251,715 13,962
MU IIRIMZZENSES 265,677 251,715 13,962
OMSEHMIEH(STHIHZE) 24| 93,982
—Jl2=s 76,9602 x5 160! 61,568
—F=5=g 76,9603 x5 H »325= 12,314
—A2E8s 440,000 x5 82 17,600
—&03 500,000 x5 *13] 2,500
Oodfier22 &2 UG 2IAH| 171,695
—JlZ2s 76,9603 x16F 112 137,913
—F=5=g 76,9602 x16H 165~ 19,702
—A2lE8s 220,000& x 16240 & 14,080
OIAIEX M2 s9tIIA 406,801 691,560 N284,759
) 203,400
& 40,680
= 162,721
401 Al HIZL 201 406,801 691,560 A2B4,759
Jl 203,400
< 40,680
[Ea 162,721
01 Al&H| 379,220 675,723 A296,503
ODINIEX M2 =t
2,528, 1302 *150ha 379,220
Il 189,609
== 37,922
o 151,689
02 Zeltl 24,408 11,480 12,928
OOIMISHAI M2 =2t30|
162, 7202 *150ha 24,408
Jl 12,204
& 2,441
Ea 9,763
03 A2 CHYI 3,173 4,357 A1,184
OOIMZHAI M2 =It30]
3,173,000& %12 3,173
) 1,587
< 317
s 1,269
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
S3=IHRII(REA) 13,000 13,000

201 er23 | 5,000 5,000
01 At2teltl 5,000 5,000
Odliet==Z il 0IFIIg S
1,000,000 504 & 5,000
206 M=l 8,000 8,000
01 M=4l 8,000 8,000
O&#HY= HMA <Kl 20,0002 4004 8,000
A =0IE8EA 345,965 188,723 187,242
= 9R,732
= 14,304
o 238,929
A ASAHY 108,372 104,510 3,862
307 21201 & 108,372 104,510 3,862
02 QBN ER 98,372 94,510 3,862
OHEIEA % HHAI XIZ A
80,000,000 *50% 40,000
OHIHA 2 HIdoteA X
9,268,800 *55+50f% 23,172
Ogdt= Jis & Z2& JIAH XN&
4,000, 0002 *5CH*50f% 10,000
OEDTHHHAIE JHE AL
1,800,000 *28*50% 25,200
12 22 E W =S| 10,000 10,000 0
OHIIHA Ml sIt WsE8t|
2,000,000 %52 10,000
git= o3 K 25,000 10,000 15,000
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= 3,000
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= 10,000
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s 12,000
02 LB HAHE L 25,000 10,000 15,000
Ogits &3zt AFA
25,000,000:& *27H 2=%50f% 25,000
= 10,000
[ 3,000
T 12,000
2atE MAMET 723 119,830 38,450 81,380
= 47,932
Ea 71,898
402 I2FX=01 & 119,830 38,450 81,380
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S I EE S (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ooleldle o aiaidale 92
5,7632 1002 * 1004 5,763
= 864
Ea 4,899
AETHOH L X (S oH =4/ - ME) 4,019,683 5,365,304 1,345,621
= 1,192,163
[ 288,9%
= 838,872
o 1,699,652
tE2S 921,841 878,608 43,233
= 263,3%
& 81,833
= 576,614
AtXl2tel 56,000 56,000
201 er23| 34,000 34,000
01 At2teltl 34,000 34,000
OSHMAESA S|
800,0002 %102 8,000
O&tZUlolXl S| & 800,000 52 4,000
OQ’HALER FH X FXI2tel 4l Xt
560,0003 *40CH 22,000
401 AIZHIZ SO 22,000 22,000
01 Al&HI 22,000 22,000
OMNIREE dHl & |A22 E4
22,000,000& 12} 22,000
MST20 LRSI (A THOH L K2l ) (Q124H]) 588,041 562,208 25,833
= 235,215
= 70,563
o 282,263
101 @124H| 588,041 562,208 25,833
= 235,215
& 70,563
= 282,263
M ORINZZE2NSE S 588,041 562,208 25,833
OdtsdEZ0Zaatl olAt| 570,041
—Jlzs 76,9602 *302H x160 480,231
= 192,002
= 57,627
= 230,512
-5+ 76,9603 *30E 20 60,029
= 24,011
= 7,203
= 28,815
—28= 29,781,000& 29,781
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03 AlESTHYI 1,656 1,080 576
Oz #8224 ZEAIE AIZ 20|
230,000,000 * 14 2=+0.72% 1,656
[ 828
T 828
S5 LAY 58,480 48,580 9,900
201 Ler23| 1,680 1,680 0
2 s5=34l 1,680 1,680 0
OR=gsd &IKks
70,0003 %1290 220 A 1,680
206 M=Hl 16,800 6,900 9,900
01 M=8l 16,800 6,900 9,900
Of =zt ElHl 7Y
4,400 3,250 14,300
OR=3sd Hals e 437
25,0003 %100€ 2,500
401 Al HIY S CHYI 40,000 40,000
01 A28l 40,000 40,000
ORSSLHSES,US) FHIAME
10,000, 0002 «29 A~ *23] 40,000
=59 Mg 0S| F8 S2AHY 300,000 200,000 100,000
< 120,000
= 180,000
401 AlEHIZL SO 300,000 200,000 100,000
= 120,000
= 180,000
01 Al&H| 300,000 200,000 100,000
OfH9 MY 2SI UM HSNE= £
At 100,000,000 *17H 4~ 100,000
= 40,000
o 60,000




SA S
Hr: DRl=K| A (REUNAHL/ N HLEA)
=@t =5 S SAY EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
O%=o &Y 0IS)| D2 RARA%E =4
e 200,000,000 *10H 2 200,000
= 80,000
Ea 120,000
LY EY 97,500 37,500 60,000
= 45,000
= 6,375
[Ea 46,125
307 el2to| & 7,500 7,500 0
= 1,875
o 5,625
12 Q2RI RS W=t 7,500 7,500 0
OFAEEI & ?H U=
750,000 %10 7,500
< 1,875
Ea 5,625
401 AIZHIZ SO 90,000 30,000 60,000
= 45,000
< 4,500
[Ea 40,500
01 Al&HI 90,000 30,000 60,000
OADIEJE AUEE =4
30,000,000 *37H 2~ 90,000
= 45,000
== 4,500
[Ea 40,500
0S8 &8 & 2+ 203,330 103,330 100,000
206 M=l 3,330 3,330 0
01 MHZH| 3,330 3,330 0
OLeAd 2 37,0003 +0S 3,330
401 AIEHIX S0 200,000 100,000 100,000
01 A28l 200,000 100,000 100,000
O0t=&H Al - Wil 2XIA
15,000,000 *57H 2 75,000
O=dH ExAtY
5,000,000 *25JH 2= 125,000
SEMHIAZRO0I(QAH]) (HEAL) 45,698 44,319 1,379
= 22,850
o 22,848
101 @124H| 45,698 44,319 1,379
= 22,850
o 22,848
04 JIZtN2Z2 XS+ 45,698 44,319 1,379
O Al=X2e|d 212 22,849
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SA S
Hr: DRl=K| A (REUNAHL/ N HLEA)
=@t =5 S SAY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—JlEs 76,9602 x1H #2262 17,316
= 8,658
= 8,658
-5+ 76,9603 x 18 »422= 3,233
=S 1,617
s 1,616
—AlRI2EE 230,0003 x1E =100 2 2,300
< 1,150
s 1,180
O=ZSEX AL 1248| 22,849
—Jl2= 76,9602 x1&H*2262 17,316
=S 8,658
s 8,658
—F=5=g 76,9603 * 1& »425= 3,233
< 1,617
s 1,616
=1 230,000 18+ 1004 & 2,300
= 1,180
Ea 1,150
S0tz Mg 29 52,952 52,952 0
= 26,476
o 26,476
307 212+01& 52,952 52,952 0
= 26,476
= 26,476
12 22 W S| 52,952 52,952 0
O=0t= n=E fIE2F 52,952,000 52,952
= 26,476
= 26,476
OISEH AREX(EX) 70,000 0 70,000
=S 70,000
401 Al HIZL 2018 70,000 0 70,000
= 70,000
01 AlZ8| 70,000 0 70,000
OzZUg &olel OliEsAHE2t &8
30,000,000 *1IH 2 30,000
< 30,000
OQulH =32l IliEsH32t &4
20,000,000 * 11 2 20,000
[ 20,000
OdEs usel EsAsL &4
20,000,000 *1IH 2 20,000
< 20,000
Se|dy 22e(S3/HII2) 6,967,089 6,416,288 550,801




SN BHLD
A gZaAe|de 22 (8F/HIIE)
2ol HYIE MelAE 29 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,060,500
=S 58,100
s 5,848,489
HYIZ XM2AlE 29 2 6,656,245 6,154,444 501,801
= 1,000,000
[Ea 5,656,245
MEHDIE MolAl" 2 2el(2dl) 461,228 443,152 18,076
101 e124d| 461,228 443,152 18,076
M IItHZZ2 NS 2 461,228 443,152 18,076
ONgEs dE & AE2d 21| 461,228
—Jl2= 76,9603 * 162 x25562 313,997
-5+ 76,9603 * 162 x52= 64,031
—=28= 350,000& x 16+ 1201 & 67,200
—&0=2 500,000& x16&*23] 16,000
MEHIIZ M2lAE 2 2l 2,697,497 2,288,532 408,965
201 er23 | 913,412 877,860 35,552
01 At2teltl 202,647 171,677 30,970
OAFRIID| ARE EY(TRE £ 9 55)
250,000 %53 1,250
ogRd F7 7 180,000& %12 180
OZA2e| 28 7L (B2, AYEE S)
500,000 32 1,500
Ollgld =22 Al=iHHE 7
2,000 *100H 200
O} MBS H(0tAT, SSAE S) +
= 120,000 * 1204 & 1,440
Ot 2e2i 22= 2,940
—&gs 170,0003 6 »23] 2,040
—QtM B} 150,000& x6 & *13] 900
OZsx 4 =& 200,000& %12 200
OR0EH 89 =82
170,000 * 1204 & 2,040
OV KA 22| ==
330,000& * 12043 3,960
O52I HIIZA =8
200,000& %12 200
OAgE HZgatd s8d+=2
600,0002 %12 600
OAYord HIBH =25
1,200,000 #23] 2,400
OFE=+ HMelAE |2 225 (Y
E 2| 108) 400,000 1200 & 4,800
OaZAE RA22E 228 7
2,000,000& *129HE 24,000
OLZAlE 22 BN =52
200,000 *13] 200
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2A:

Mz StAAL|HE P2l (B3 /HIIS)
=aak 2 XelAd 2g 22l (EEEE))
SA - B S (3H) - MISAY - B2 ofl aro G o HDE2
OAXZAIE S BSZHAF =2
5,000,000&*13] 5,000
OB 2RI FIIAA 242
35,0002 *2CH*13] 70
OS0I1AE, TdIel HIIHA =52
177,000&*13] 177
OXZEAIE U] BIEAIE TDIEE S
== 7,500,000& 121 & 90,000
OAXZAIE CHOIZSA SEEA =2
5,000,000 %13] 5,000
OAZAAIE CHEIMEE Bigias SH2A
= 4,500,000 *x23| 9,000
OHDIS fEHe =2 (HQE &)
5,000,000& 63| 30,000
OAAE HA 222 (HISTH SN S)
500,000 43| 2,000
OHE EE: =2 HA
350,000 *120H& 4,200
OOHHE KXot HAE =2 A A
200,000 *3 A +43| 2,400
O&fI| SR =2
200,000« 1204 & 2,400
O=e)| gr&e =42
220,000& * 1200 & 2,640
Qset@2te|HIEe CCTV A2 2=H|
350,000 = 11CH 3,850
2 2SI 710,765 706,183 4 582
OstAZC|HE HIAIRS
11,000, 000& * 120 & 132,000
OstA2|HEH S=SAIER2
1,500,000& = 12JH& 18,000
Ot aL|dY Salzg
110,000& = 12002 1,320
OstH2e|HE ABE s
84,000 *13] 84
OLZAlE AZH|
1,640 %4, 8502 E{*x 1200 & 95,448
O&ZdI| FAEH| 180,000& = 1200 & 2,160
Ol 22 2 C=2d uH
5,000,000 %13] 5,000
QetF 2t My ABtAYH| SXIE 4|
3,000,000 *23| 6,000
OAZSHI( - L 918 T4) SAELH)
20,000,000 *23| 40,000
O AIE SXI2t2 5,000,000 +23| 10,000
OMEEE HdYAlE RXE2H]
5,000,000 *x23| 10,000
OAX2ZAIE ™S 22 S22 20,270




2A:

KEH
ol TFIIJI% I—IEIAI/\* %% JEFEI (Ete &
SA - B S (BIH) - HISA - BY Ofl by G o MimE=EY
— & X2 1,800,000& 13 1,800
—ZAMAGIE EE A
810,000& 13| 810
—METH 540,000 *43] 2,160
—WEE JIA L =00A
1,500,000& *63| 9,000
—&xel X 6,500,000& 13| 6,500
OX2AIA JIHEY(2H 2) LA
750,000 63 4,500
OAZIAlA Iyl g™, Aol WA
4,000,000& *23] 8,000
OA2ZHAIE 32! ClA3 & 2010 A
4,000,000& 23| 8,000
Oa2ZAIE 23010 S
4,500,000&*13] 4,500
OA22 BAT L L3S 24
5,000,000&*13] 5,000
OMZAIA B A2t
5,400,000&*13] 5,400
OAaZIAE 201250 A2l
1,000,000~ 120 & 12,000
OXNZHAIA NS S22
2,500,000&* 120 30,000
OAZEAIA HIAHH fIEX el
520,000 x240& 124,800
OaZAd BErHeANE SSHAHEX =
N 5,000,000& 23| 10,000
OAX2AA B ELKelAE PLC ES WA
4,000,000 *x23| 8,000
Oogadl & ol=J] ==2lbl
300,000 *3CH 900
ogad € =) g8 2L 7,695
—348 1,890& *3, 5002 £ 6,615
-3 1,800& 6002 E1 1,080
OstAAL|HH Xk FI| SX22I(80H) 64,683
—Xt&F, S| ZAL =2
50,000& *8CH 400
—X, )| |X2eld]
3,500,000 *8CH 28,000
—XteF, S| SF4]
1,890 x2,4002| E4*8CH 36,288
Oodt=EdH Xl HEAIE SXIEH|
4,000,000& *23] 8,000
QetF 22 Mg MIIAE SXE 4|
4,000,000 *23] 8,000
OstA2e|HIE Wele |SXIE2H]
5,000,000 63| 30,000
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FA S
A gZaAe|de 22 (8F/HIIE)
Selr HDIZE MelAlE 29 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAZNE R4+ BE £ 94
1,000,000 *2CH 2,000
OAZAIE ™) & 5 2+
5,000,000& *12] 5,000
OAZAIE B2 & HE S UAl
4,000,000& 42| 16,000
OaZAE A4z S5EE wi
2,000,000 *43 8,000
206 MH=H| 127,450 101,700 25,750
01 M=4l 127,450 101,700 25,750
OBABRIME L Q2012 YAAE 29
35,0002 x40 23] 2,800
OmHJIE2 MEX M 2L
75,0002 x255+23] 3,750
OFES XMl 28AE (22
Is, JtdAant) 3,000,000 12 3,000
O&FE+ XclAlE AL & 2488 1Y
2,500,000& %12 2,500
OEgd NduE 7 600,0002 %12 600
OA2HAE 2YAE DU(RA%, 243,
HEH, 28, 23)
7,500,000& 1290 & 90,000
Ox=Z+S 228 iz, &, &ad 2
800,000& *12] 800
Od2E A =5 S04
3,000,000 2 6,000
OA2A2 LE5(22+ S) 70
1,800,000 * 107K 18,000
301 LEetE N = 40,635 38,692 1,943
14 DBt 2 a3 40,635 38,692 1,943
OZ8l ZARE 49
76,9602 x222 x2S+ 1204 2 40,635
307 212+01& 1,250,000 980,280 269,720
05 2ItRIE = 1,250,000 980,280 269,720
O4ZAlE 289 22|
104,166,666 * 1294 1,250,000
308 AHXIEMSOIH 120,000 110,000 10,000
12 JIEetR83 120,000 110,000 10,000
OHPIENZ Fea(sF2eldl 42F &
OhE AEE HDIZ)
120,000,000 12 120,000
401 Al HIZ S OHbI 246,000 180,000 66,000
01 A28l 246,000 180,000 66,000
OA2Z LH3tE B+=3At
20,000,000& »23] 40,000
OAZAIE 3L wH
5,000,000& 22| 10,000
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SN B
A gZaAe|de 22 (8F/HIIE)
2ol HYIE MelAE 29 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBt I OIEZHI0101 24 SAH
20,000, 000& »23] 40,000
OUgHII= #1% Xl 89 S
20,000,000& =23 40,000
OLZAlE Ot WAl
25,000,000& *13] 25,000
OBHBRIME N2 L 9% SLTA
25,000,000& *13] 25,000
OaZ2 1,2 HOIE uM X 2=
7,000,000 22 14,000
Oa22 28 B 2,000,000& %12 2,000
OWUHXI| 2/ & 2 2=
25,000, 000& »238] 50,000
HEHDIZ XMelAlE FENS 2N 142,520 144,760 N2,240
201 er23y| 2,520 4,760 A2,240
01 AtR2t2|HI 2,520 4,760 A2,240
OstZacldt =X AN Fe=&
70,0002 x0H *43] 2,520
401 AIEHIL2OH] 140,000 140,000
01 Al&| 140,000 140,000
O#ZBME FHXA FOIXAAIR (5
LEY HA 80 2E A=)
20,000,000 »7H 2= 140,000
MEH IS MelAld HEAI (DA A1 &) 3,355,000 2,666,000 689,000
= 1,000,000
[Ea 2,355,000
401 A& HIX R0 3,355,000 2,666,000 689,000
= 1,000,000
o 2,355,000
01 A28l 3,049,000 2,666,000 383,000
OA2AIE EXIMNS(ES, HF, J1AH, &)
3,027,000,000& *1IH 2 3,027,000
= 908,200
[Ea 2,118,800
OAZIAIE JI= 2 MAIEH ZHE 2E 8
= (ve) 22,000,000& %1042 22,000
02 Zcltl 300,000 0 300,000
OAZIAIE XA 22l
300,000,000 *1IH 2 300,000
= 90,000
o 210,000
03 Al 20HHI 6,000 0 6,000
OAZAIE XA AIE 20
6,000,000 * 104 2~ 6,000
= 1,800
[Ea 4,200

3




SN B
A gZaAe|de 22 (8F/HIIE)
Rl dEHDIE 22l & XS EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MEHIIZ 22 & AE 310,844 261,844 49,000
= 60,500
== 58,100
[Ea 192,244
MEHIIZS W2E 2 5,844 5,844
201 Ler23 | 5,844 5,844
01 At2t2ltl 5,844 5,844
OEAXNS dH)lE 28XE d2
121,000& »242] 2,904
OoNgEs= 251 oz & &Xz
140,000 *62] 840
OZE YsHIIZ £)1XE TH2
140,000& * 102 1,400
ONass 2eliis S22 (AL, JH) X
= 350,000 23] 700
dsullE =AH N2 15,000 36,000 221,000
= 4,500
== 2,100
= 8,400
401 Al HIZL 01| 15,000 36,000 221,000
= 4,500
< 2,100
[Ea 8,400
01 Al&HI 15,000 36,000 221,000
Ogshllz Ssdotd &5 K3 15,000
—2ee 5,000,000 *37H 2= 15,000
= 4,500
[ 2,100
T 8,400
sSEHHE =1 X3 280,000 210,000 70,000
= 56,000
[ 56,000
Ea 168,000
301 LELE NS 280,000 210,000 70,000
= 56,000
s 56,000
s 168,000
14 0Bt 2as 280,000 210,000 70,000
SEHHIE =H24= X
1002 *2,800,000kg 280,000
= 56,000
=S 56,000
s 168,000
dslllz 8% =Xl 2 10,000 10,000 0




SN BHLD
A gZaAe|de 22 (8F/HIIE)
Rl dEHDIE 22l & XS EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 10,000 10,000
2 52484l 10,000 10,000
Ogslll2 ssdoty FAL+4|
2,000,000 *57H 2 10,000
AY 2SI FHI(SZ A (JIEHIIE) 305,928 304,199 1,729
el 3 190,284 186,755 3,529
el 24| 190,284 186,755 3,529
101 @124H| 190,284 186,755 3,529
01 &= 190,284 186,755 3,529
OsZ A AR 22+H 190,284
—2ey 190,284
6= 12,213 +7E #40A| 2+ 1200 2 41,399
= 11,1302 x 152 *40A| 2H+ 1200 2 80,136
= 9,992 7S *40AI 2t 1200 2 33,574
= 9, 1602 x8E #40AI 2t 1200 & 35,175
Jl=23H 115,644 117,444 1,800
Jl=ZHI(&F ) 30,840 28,560 2,280
201 ger=2 3| 26,280 26,280 0
01 AtR2t2|HI 26,280 26,280 0
OYRFA MREE 7
10,0002 *382 * 1201 2 «80% 3,648
Oge=d &It SALEA 7Y
25,0002 x38E+0.6% A+ 1201 2 +80% 5,472
Oge=d s8] gi=
500,000 *1CH*120H 2 «80% 4,800
OXZglH &Y F(5%)
250, 0003 *9JH*32/ *80% 5,400
OzZgd EH 7 (ZdA)
300, 000& *4 1 +33| x80% 2,880
OARIII| =2l S HIbIS
200, 0002 1293 *80% 1,920
OARe d - 25J] 7l 2l 2,160
—AIRY ¢ - 250 R
225,000 * 1270 2 «80% 2,160
202 04| 4,560 2,280 2,280
01 =LHA LI 4,560 2,280 2,280
OdHI9] HIZ2 =M SAHAF 048]
20,0002 x76E+3 4,560
Jl2d(eZBE ) 10,314 10,314 0
201 fer= 3| 3,45 3,456
01 At 2|l 3,456 3,456
Oddd gf=d Sl
8,000 «6 & +60& *80% 2,304
OgeFd MNRES 7Y
20,0003 6 1201 2 +80% 1,152
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SN BRAD
. AY2IIHI(SF D) (OIEHIIE
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 6,858 6.858
01 2LHoIH 6,858 6,858
OBZIM A2EX B EZOY
20,0002 62 *9 &« 1204 2 «30% 3,888
Oddd g4 22 EF0i|
110,0003 +6 2 x32 x52] *30% 2,970
JlEZdl(gZ2elE) 6,453 6,453 0
201 2= 1,728 1,728
01 At22telt] 1,728 1,728
Ol =8 S|
8,000 x3& 602 «80% 1,152
OgeFN ANRES 7Y
20,0003 *3H =120 2 +80% 576
202 04| 4,725 4,725
01 2LHA b 4,725 4,725
Ozl 2= 2 &0
20,0003 *3E 152 * 1201 2 «30% 3,240
OstZae| gRFa 22| E2H0Y|
110,000& «32 3L x5 x30% 1,485
Jl=ZH(deeEE) 36,3% 36,39%
201 er23| 6,912 6,912
01 AtR2te|HI 6,912 6,912
Odged gl Sl
8,000 » 12 +60 & *80% 4,608
Odzsd MNRES 7Y
20,0002 #1228 * 1201 2 «80% 2,304
202 04l 29,484 29,484
01 =LHAHI 7,884 7,884
Odgetd g4 2 20|
20,0002 *3E+9 &+ 124 2 «30% 1,944
Odigeatry gRF3 22| E2F0Y
110,0003 x 12 *3L x52] x3(% 5,940
02 XA 21,600 21,600 0
OFAXY 20A SR A0
200,0002 9~ 121 & 21,600
Jl2dl(Ms3 ) 5,157 5,157
201 er23| 1,728 1,728
01 AtR2t2|HI 1,728 1,728
OMEBY g Sl
8,000 x3Z+60 *80% 1,182
O MNRES 7Y
20,0002 x3E #1204 2 +80% 576
202 04l 3,429 3,429
01 =LHA LI 3,429 3,429
Oatddg g2Fa 2 SZ0iY
20,0002 *32+9 &« 1204 2 «30% 1,944
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SN B
. AY2IIHI(SF D) (OIEHIIE
Sl J|E2E| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oatddg g2RFa 22| E2H01Y|
110,000 x32 »3& x52| *30% 1,485
Jl2dH(MEESE) 8,835 9,315 480
201 er=23y| 3,120 3,600 A480
01 AtR2t2|HI 3,120 3,600 A480
OLgEs =8 S|
8,000 x5 +60 & *80% 1,920
CECESIPES-+- 1]
20,0003 5E* 12012 1,200
202 04l 5,715 5,715
01 =LHA LI 5,715 5,715
OUEES g4 2L 20|
20,000 x5+« 121 2 «30% 3,240
OLEEs HRFA 22 E0HI
110,000 x5 & 32 x52] *30% 2,475
JlE2Zbl(3¥=XE) 5,157 5,157 0
201 er2 3| 1,728 1,728
01 At2t2lt] 1,728 1,728
OBH=X Pexd Sz
8,000 *3Z+60 *80% 1,152
OYLET NDEE 7
20,0002 *3EH = 1204 2 +80% 576
202 04| 3,429 3,429
01 =LHOLI 3,429 3,429
OSE=A g2 2 £2&04|
20,0003 x3Z 02 1270 2 «30% 1,944
OSE=A g4 22 £2204|
110,0002 «3& 3L x53| x30% 1,485
Jl23HI(SZHHE) 8,892 8,892 0
201 ger=3| 4,608 4,608
01 At 2|l 4,608 4,608
OsABRIME ALEE 22|
8,000 »7 & +602 «80% 2,688
OgeF=d MNRES 7Y
20,0002« 102 %1270 2 +80% 1,920
202 04t 4,284 4,284
01 =LHOHI 4,284 4,284
Ot ac|uiy gFF4 2L EZ0|
20,0003 7 *3L « 1270 2 +30% 1,512
Ot 2eldE 28 29 £2F0i|
110,000 »7 & *x32 x42] x30% 2,772
J23H(SRAZZR) 3,600 7,200 23,600
202 04l 3,600 7,200 23,600
01 =LHA LI 3,600 7,200 A3,600
O323 22X 2U &0l
20,0003 *3Z 102 1201 2 +50% 3,600
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SN SO D

g X ;—%g(@%&%ﬂ)(%%/ﬂ:ﬂjl%)

=l WRAAXE EER=E)

SA - ZE . BR() - HRAR - BES of v G o HIDE2
HREs(sZ A (22/HDII8) 30,000 20,500 9,500
LI HHKIE 30,000 20,500 9,500
WEHH X ZE 30,000 20,500 9,500
RJIsdES 30,000 20,500 9,500
0N JI=sdEs 30,000 20,500 9,500

Oogrdaeldy FeXIIZ2 EH3(HDI2
Brl====3= 2] 10/100) 300,000,000 *10% 30,000




